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\
. :=l(cos{—J+rsm(5—EJ]
(5 pts) Express = in standard form. 3 3

a.
b. (5pts) Find the principal 5% root of z, i.e.. find vz . In trigonometric form.
c. (5pts) Now, find all the 5* roots of =, in trigonometric form.
d. (5 pts) Find the trigonometric,fpxm of z
e. (5pts) Finally, let w=3 cas£+ sin 47"[' |, and find the trigonometric form of the product =W,
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d. (5 pts) Find the trigonometric,£prm of 7
CAmY L (4T
T —

e. (5pts) Finally, let w=5 cos — [+isin]
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. and find the trigonometric form of the product =" W.
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